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n j 1 Lo e 1
/3](3 )(r,t) = %exp — | = +iAw |t / dt’E(r,t’)p](D 1)(T,t’) exp || = +idw | '],
a n T . T

(2.16)
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! 2 1 3 1 t
« | dt'{E(m’)ﬁ;’z><r,t'>+E*<r,t’>ﬁ§;)<r,t'>}epo. (2.17)
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E(r,t) = ZEj(t —tj) expli(kj-r — wt)] expliwt]

= Z E;(t — t;) explik;-r], (2.18)
Pba(r, 1) = ppa(r,t) expliwt], (2.19)
Pan(T,1) = ﬁza(rv t) = pan (7, t) exp[—iwt]. (2.20)
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e =) =0, (2.21)
) = o9 — ol (2.22)
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‘ t
ﬁ}(j)('r,t) = @pff) exp |— 1 +ilAw |t / dt' E(r,t') exp 1 +ildw | '], (2.23)
a ) T L T
p](jl)(r,t) = 0. (2.24)
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[)1()23) (T7 t) =0, (225)
2 i\ (0 t
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t ! ) ) 1
></1dﬂa/ dﬂ{EOﬁﬂﬂEﬂrﬁﬂem)L—<f——iAw>(ﬂ“—ﬂﬂ
—0o0 —oo 2

+ B ) E(r, ) exp [— (Ti2 + iAw) - t’)] } exp [;—J (2.26)
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3 3 !
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t///

+ B(r ") E* (r, ") E(r, ') exp [—i Aw(—t" + " — t')] }

1 n " 1 " " /
— — —— (=" +t" = 2.2
(t t")] exp 2( t t 1, (2.27)

X exp [—
1

PP (r,t) = 0. (2.28)
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PW(r, 1) = P (r,t) exp[—iwt], (2.29)

PM(r,t) = N / dwog(wo) (T, t). (2.30)
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5 = %[H, p] + (decay term). (5.86)
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H=Hy+ Hy, (587)
hwgg 0 0
Hy = 0 Awee 0 , (5.88)
0 0  hwpp
0 —ge B 0
Hy = | —peg & 0 —pen-E* | - (5.89)
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Fwee = Fwgg + Hevp, (5.91)
hwpy, = hwgg + 2hwg — RAB. (5.92)
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0 ) . 1 (0)
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o1 1
d — 1W0Peg T2peg. (5.101)
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P(%) - (WTeg) a109(t — t1) explikyr] exp[—iwo(t — t1)] exp [—T%(t — tl)} ) (5.102)
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00O000000000000
a 2 i 1 1 1 2
o0k = — 3 (Heoply) = pld Heg) — ﬁpég), (5.104)
) i 1
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O @ _ _ig @_. @ __1
~Pbe = —7H —i(2wg — A - . 1
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p{2) = O(t — t2)O(ts — t1) exp|—i(ky — k)] (u;ig a2> (u;;gal)

X exp [—Til(t — tg)] exp [—Tiz(tz - tl)] exp[—iwo(t2 — t1)]
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1 1
X exp [——(t - tg)] exp |:——(t2 - tl)] expliwo(t2 — t1)], (5.107)
T Ty
P = —p), (5.108)
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. 1
X exp|—iwo(ta — t1)] exp ~T -
2be
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. 1
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2be
X exp [—Tiz(tg _ tl)] }
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Pl = O(t —t3)O(t3 — t2)O(to — t1) expli(ks + kz — k1)r] exp[—iwo(t — t5 — to + t1)]
() () %)
X exp [—TiQ(t _ tg)] exp [—Til(tg _ @)} exp [—T%(@ _ tl)] , (5.115)
P = O(t — t3)0(ts — 12)O(ts — t1) expli(ks + ko — k1 )r] exp[—iwo(t — ts — ta + t1)]
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g(w) = (A/V/Ta)e” @ @)/ (5.117)
gB(w) = (Ap/v/mop)e™ @ A)/7%, (5.118)
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X exp [—T%(t - tg):| exp [—Til(tg — tz)} exp [—TiQ(tz - tl)]
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X {Q’F(_1)V%ﬂzABe—®%MXv4@2aAB@—mh;%UTmm—UTw@—m)}_
Hge

(5.119)

00000000000000000002 -k 00000000000000000
00000000000 ARAg 0000000000000 0000000000000
0rAg 0000000000000 0D00D0O0OO0000OO00000O000D00O00n
00000000000000000000000¢t=2t,—-+ 00000000000
OOe (@/H(=20+0)* 4 5t 2, +¢,)0000000000000000000000O0
T=t,—t;0000000000000

I(T) = /OoClt‘PinhomO(t)’2

—00

2
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P(t) = jgx Pty + ey 05y + IixBPGA + HYBPGY- (5.121)
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gg > gY = XY = Xg,  (ugy B7)(uxgE2) (y g E2), (
gg = X = XX = BX,  (ugxEY)(uxgE2)(kBx E2), (
gg > gX =YX = BX,  (ugxE7)(pygB2)(upy E2). (
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+ AXYe—(ag(Y/ZL) zAXyr ‘|,“gY |’2 {EY'EkQ}{EY'Ezl}}

_ABe—(O']%/Zl)TQeZ(AB—AXY ’/’LXBL {EX Ekl}
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pxB = Cxpex, pyB = Cypgy. (5.132)
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2
2{1 + AXY€(U§(Y/4)T2€7;AXYTM}
|:ng‘

2
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)

x expli(—Ag)(ts — t2)]

Xexp[—%(t—tg)} exp[— (tg—tg)} exp[—%(tg—tl)]}, (5.195)

2 2be

PP () = Ot — t3)O(ts — t3)O(ts — t2)O(ty — t2)O(ty — t1) expli(2ks — 2ky + ky )]
X eXp[—iQ)o(t — 2t3 + 2ty — tl)}

{en o) (o) (o) (o) (Yo
x expliAp(t — t3)]

(t - tg)} exp [—TiQ(tg _ tg)] exp [—Ti(tg _ tl)]

X exp {—
2be 2

i e /L e Z e 7; 7,
() () () () ()

X eXp[’iAB(t — 2ts + tg)]

(t— 753)} exp [—

(ts — tg)} exp [—Ti(tQ _ tl)] } (5.196)

2be 2

X exp [—
2be
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00000000000 P(t) = pgep®? () + pepp) () 0000000000000000
0000000000000000000

Pinhorno(t)
= @(t — tg)@(tg — t3)@(t3 — tg)@(tg — tg)@(tg — tl) exp[ (2]€3 — 2ko + kl) ]
x Ae” ( / )(t—2t3+2t2— tl) eXp[—in(t — 2t3 + 2t2 — tl)]

) efle . € ' e ) e 1
X <Z:U'gh:u’ _ga3> <Z'u7ga3> <%a2> <%a2> <%a1> exp [—E(t - tl):|

« {4+ Heb
Hge

2
ABG—(U%/‘l)(ts—h)Qei(—AB)(ts—tz)6—(1/T2be—1/T2)(t3—t2)

+(-2) Heb A e~ (08/4)(t—t3) iAp (t—t3) ,—(1/Tave—1/T2)(t~t3)
Hge
4
+(-2) Zeb ABe_(U]%/4)(t_2t3+t2)2eiAB(t_2t3+t2)e_(l/TQbe_l/TZ)(t_tQ)}' (5.197)
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4
(0.8 @(ng — 7'21)@(7'32)@(7'21)’ng|12 exp |:_T27-32:|

X ‘4+ “Zeb; Ap expli(—Ap)7s2] exp[—(0f /4) 73]
ge
_ ’Meb‘Q ; — —(o - ?
+ ( 2)!M \2ABexp[zAB(732 721)] exp[—(0p/4)(T32 — 721)7]
ge

2

4
L (-2) ;ZZZ:4AB expli(—Ap) 1] exp[—(03/4) 7]
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2
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gobooboooboboooboooboooboboobooobboonod
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<§+n>TB§7'32< <§+H>TB|:|D|:| T =ndg O00O00 (5.202)

O000On0O0O0OO0Ts = 2r/Ap0000000DOO0O000OOOOOODOOOOOO
e =71 +7000 70 T3/2<7<3Ig/200000000000000-0000C0OO
D(0]23/4)72<<1DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD
goboobooooboooboobooo

4
ok —2kytky (T32, T21) < O(732 — T91)©O(732) O (T21) | e | exp [—5732}

2 2
‘2 _ ’Heb| ABeiABT32 e—inABTBe—(O'}%/ll)TQ

’Nge|2

4
~ O(732 — 721)O(732)O(7T21) |fige | exp [—ET&}

2

’/’Leb|2 iABT32
x 2 — Age (5.203)
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UdbbdUm Ui qbO0o0bobooboboobboooboooboboonbog
00000000000 0000000 528(b) 0000000000000 ;=000
gobobbobobobobobobobobobobOobobobyyO0O0obDO0OD
goboobboddm =000000000000000000000000O0O00O00O0
gobooboooobooboonoon

gbooobobooboobobooood

gogoobooooboobobooooobbooooooobobooooooboooooDoo
ggbbodbbuoobbooobuodbbmpebid ,pubboaboboooooo
goog

1 o, 3 0; 0;
= T — < - T goo = nlTj -—— 0oood
<2+n> B+AB_732<<2+7”L> B+AB T21 nB-I-AB
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DDDDDDTD(0]23/4)72<<IDDDDDDDDDDDDDDDDDDDDDDDDDDD
gbobobobobobooooooooobooooooonoo

4
Doy —2ky 1, (T32, T21) X O(T32 — 791)©O(732)O(721) | ptge | exp [—ET&]

2
’/’Leb“2 ABeiABnge—’i(nABTB+91)e—(O'123/4)T2
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’Mge

12 4
~ @(7‘32 — 7—21)6(7—32)6(7—21)|Mge‘ exXp [—ETQ;Q]

2
(5.205)
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5.8.1 UU0O0OO0OOOOOOO0OODODOOOOOLOODOOO

gboobooooobooboobobooboobooobobooboobobooboboan
gooobooogoboboooboooooboooboobooooboboboobooon
gobodbooobbooboobooobooon

H(r,t) = Hy+ H'(r,t), (5.206)
Ho = Hgglg) (g + Heele) (e| + Hyp|b) (bl (5.207)
1

H@__EIM%(?@k+§>, (5.208)

k
Heo = Hyy + hweg + V, (5.209)
Hyy, = Hgg + 2hweg — hAg +2V = Hee + hweg —hAg +V, (5.210)
V==Y glb+0}), (5.211)

k
Hl(’r,t) = _,U‘ge'E*(rut)’gMe’ - Neg'E(r7t)’e><g’
— Heb E*(r,t)|e)(b| — pve-E(r,1)[b)(e], (5.212)
K= Pge|g)(e] + pegle) (] + pen|e)(b| + pbe|b) (e]- (5.213)

goooboooo FODODOOOODOOOOD HDOODOOOODOOOOODOOoOoo
0 HOOODOOOOOH,OH.OH, OOOOOOODODOOO0O0000O00000000
0ooo0o0obooboobUobobobUobU0bDUobobUObDUReservoirtd DO O0DOODODO
gobooobovioboooooooobooboobooboooDUbg DO kOO
00000000 ey OO0OOO0ODOODOOODOOOOOOOOOOOOOODOO AwgO
goboobbooobooooo bLDkaDDDDDDDDDDDDDDDDDD g, 000
bobp, 000000 OD0OODODOODOO
1 1

b = ip), bl = —ipg). 5.214
k o (wrar +ipk), by, S (Wkqk — k) ( )

0000000000000000000 hw000000000000000000000
00000000000 AA0000000000000000000000000000O0
00 pe 000000000000000000D ue, 00000000000000000
000000000000000000000000000000000000000000
000000000000000000000000000000000000000000
00000000000000000000 ADODDDDOOOOO Tr[4)000000000
0 Trq[A]00000000000 Trg[A] 00000 Tr[4] = Tra[Trr[A]] = Trg[Tre[A]]
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goooooooooooooobbb v 0o oo
gooooobooooooooobb oo ooooooooo
gobooboooobuooboooga
goooooooood

d i )

Splt) = 1 [Ho + H'(0), p(1), (5.215)
0000000000000 000000000 AODBOODODO [A,Bl]=AB-BAOO
goodoooooooooooobboooooooooogooooooooooooon
0000000000000 ooooooooooooooon
goooooon

p(—00) = [g)(glprr, (5.216)
_ e 5.217
pR - TrR[e_BHgg] . ( N )

00000000000 k000 TOOOOOO B=1/kgT000O00OOOOOOO
000000000 H'(t)OoOOUOO pp(t)D0000000D0O0O0ODOO0O

H(t) = eHot/h g ()= tHot/h (5.218)
p1(t) = e ot/ p(p)e=tHot/h, (5.219)
000000000000 (b215)000000000DOO

ou(t) =~ HI(1), (1)) (5:220)

00000000000000 pt) = pO ) + pM () + p@ )+ pB® @) +--- 00000
00000000 p”) =p(—0)0000000000000000000000000
ooo

N3t ts to
W0 =(=3) [ o [ i [ il i) o). 9 Eml. 622

5.8.2 000O0O0ODOOO0ODOODOODODO

0000000000000000000000000000000000000000
000000000 p= pglg)(el +uele)(g 000 00000000000000 P(t)0
00000000000

P(t) + P*(t) = Trr[Tra[up(t)]]
= g TrR [peg(t)] + peg TrR [pge(t)]- (5.222)

0000000000 eg00 pep(t) 0000000000 P(t) = prgeTrr[peg(t)] D000
00000000
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000000000000000000000000 (5221)0000 f&@oooooo
0000000000000 ¢=00000000000¢=7-000000000000

E(r,t) = Ei(t)expli(k1-T — wt)] + Eo(t — 7) exp[i(ka-T — wt)]. (5.223)

000 wOO0O00000000000000000000000000000 kOk00
002, -k 00000000000000000000000p,;0000000000
0000000000000002, -k 000000000000 (5.221)000000
00000 Ey(ts)Ea(t)Ef () 0000000000, 000000000000000
004000000 p;; 000000000000000000000000000000
00000000000000000000000000000000000000000
00000000000000000000000000000000

gg > ge > gg—eg,  (UgeET)(tegER)(HegE2), (5.224)
gg — ge — ee —» eg, (tge ET) (peg E2) (peg E2)- (5.225)

0(5.221)000000000000000000 expli(2ke —k1)-r]00000 eg0 0
(e|p®(t)|g)Pe~k) DD OODOO0DOOOOODOO

(3) (2ka—Fk1) _ —iHot/h (3) iHot/h| \ (2ka—k1)
(e[p*”(t)|g) (ele pr (e g)

i 3 t t3 to
= <_ﬁ> / dtg/ dtg dtl exp[i(2k32—k1)~r]

X exp|—iw(ts 4 to — ty)]e " Heet/

% [eiHcctg/h (—uegEz(tg _ T)> efnggtg/hpRenggtl/h
X (—MgeEi‘(tl)) o—iHeo(t1—t2)/h (—uegEz(tQ _ 7)) o—iHggtz/h
i eiHeetz/Pi(_uegEQ(tQ _ T))efnggtg/ﬁpRenggtl/ﬁ
% <—MgeEik(t1)) e—iHee(t1—t3)/fL<7luegE2(t3 _ T))e—nggtg/h

}eif%xf/ﬁ. (5.226)

0000 (5.222) 00000000 2k, —k, 00000 PR-k)()0000000000
00000 (5217) 00000000 pr0 H,O0ODODOOOOODODOOO

PR (1) = g Trr[(e]p®) ()] ) 227+

t3 to
/ dt3/ dtg/ dtlEQ t3 — T)Eg(tg — T)El (tl)

X exp[ (2ko — k1) 1| exp|—iw(ts + t2 — t1)]
’LHee(t t3)/ﬁef’£Hgg(t3 tl)/hpRe’LHee(tg tl)/he’LHgg(t tz)/h

2Mge

X TI‘R[G
4 e*iHee(t*tQ)/he*ngg(t2*tl)/hpReiHee(t3*tl)/hengg(t*tS)/h]_

(5.227)
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M 00

0; = % /_ dtE;(t), (5.228)
hi

Ei(t—t;) = pf-eja(t-tj). (5.229)
ge

00000000000000000000000000000 pge = pee 10000 (5.227)
O0000000000000000000000000Hee = Hgg+hwee+V OOO0 Hee
gobooobooboooooooo

P@R2=k0) (0 1) = 11, 020,0(t — 7)O(7) expli(2ky — ki) -7]
X exp|—2iwT] exp|—iweg (t — 27)]

% TI,R[efi(Hgg#»V)(th)/he7nggT/hpRei(Hgg+V)T/heiHgg(tf‘l‘)/h} . (5230)

00000(#)0000000000000000t<000 O(t)=00t=000 O(t) =1/20
0<tO006e@#)=1000000

00000000000000000000000000000VOO00000000
0000V(#) 0000000000

V(t) — enggt/hVe*nggt/h’ (5.231)

. t
e*i(Hgg#»V)(tzftl)/h — efnggtg/FL exp |:_%// 2dt/V(t/):| enggtl/h. (5232)

t1
goooooobooototoooooooooonooooon

TrR[efi(HggW)(tfr)/hefnggr/h pRei(HgngV)T/h engg(H)/n]
=Trg [enggt/h exp [—% /zit’V(t’)] ¢'HesT/hg=iHge/h
X exp [—% /T(ilt’V(t’)] enggT/hengg(tT)/h]
= Trgr [exp [—% /}it’V(t’)] PR €XP [% /OTdt’V(t')”. (5.233)

gobboobooobboobboobbodbiopgrbo0onobooboboonoOg
goobrobO0O0bO0DbObDOODODOODOODO ~O0D:tO0DODODOODOODOO
ooo
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gbooobooooboboooobobobooooooobob Xooboyobooo
gooooooooooooboooooobooooooooobooooboboogoDoO Y
goobgobobooooooooooobooboXxooooboboboboboboo
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Trg [exp {—% / tdt’Ve(t’)} P exp {% /0 mdt’V;(t’)” , (5.234)

T21

Trg [exp {—% / tdt’Vb(t’)} PR eXp [% /0 mdtfve(t')] exp [% / tdt’Ve(t’)”. (5.235)

T21 T21

ooO0o0v(t)0OOo00oOoOo0o0ooooO0ooUooooOVB(ooooooooooood
gboobobooboboboboobobooboboooboboobooboooobog
000 A0ODOCOOOOOOOOO

A(t) — enggt/hAefnggt/h’ (5236)

. t
efi(Hgg#»A)(tgftl)/ﬁ — ef’L’Hgth/h exp |:_% / 2dt/A(t/):| enggtl/h. (5237)

ty

Ve(t)) O V() OODOOOOOOOOOOOOOOODOOOOOODOOoOoOoOOooooooo
obobobobobobobooboboboboboobobobooboooon

V(t) — enggt/hVe—nggt/h’ (5.238)
. t
e—i(Hgg—l—V)(tQ—tl)/fL _ e—nggtg/h exp |:_% iltlv(tl)] enggtl/h, (5239)
t1
e—iHee(tQ—tl)/fl — e—iweg(tg—tl)e—i(Hgg-f—V)(tQ—tl)/ﬁ
et
— ettt ey |4 [Ty et (5.240)
t1

e~ Hon(t2—t1)/h _ —i(2weg—AB)(t2—t1) ,—i(Hgg+2V)(t2—t1)/h

. t
— e—i(?weg—AB)(tg—t1)e—nggt2/h exp [_% Zdtlv(t/):| (:’nggtl/h. (5241)
t1
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0000000000000000000000000000000 Va(t)=V®H)OW@E) =
2V(1)00000000000 (5.234)0 (5.235)00000000000000

Trg {exp {_ﬁ /mdt Ve(t )} PR XD {% /Omdt"/é(t')”

; ; T21
= Trg [exp [——/ dt'v (t )] PR €XD [ dt'V(t
h T2 0

1

l
ol ol [ ]
[rovel

= Trg [exp [_}_:l/mdtm/( )] pReXp[- 'V (t')| ex [ dtV( )H

1 0 T21

~ Trg [exp [—% /thldt’V(t’)] PR exp {% /0 mdt’V(t’)”. (5.243)

gbooooboooboboobobooboboboboboobobooboboono
O00000000D0O0000 ADODODO (A)=Trg[4pr]0000000OOODOODOO
gbovobobobobobobobobob

o £ [ ]

G e o]

~ exp [—%(V}(t—%—m ]exp[ { / S / mdt” W) (v)?)
+f”lf”%’ OV - (1))
—2/W1_/dﬂ V) - 0?)}]. G2

0000000000000 oooU(¢—-¢)00D0D0O00U0000O0O0oUooooo

/T 't / tdt”((V(t’)V(t”)} — ) = /0 o / - mdt” DY)~ (V)?). (5.245)

0000000000 (V{E)V(E") — (V200000 vVOO000000000o0o0ooo
0000000000000 SAO0000000004(¢—¢)000000000000
000000000000

Sw=%/%/%wwmmm—wﬂ, (5.246)
== / dt” / dt’ W) = (V)?), (5.247)

goboobooooos3oubooopbooboobboooboobooon

(5.242)
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0 530: 0 000O0O0ODDODDOOODOOO0000ooooooO
S0 S*(x) 0000000000000 00U0O0OOOO0OOOOO
i [t i [
Trg [exp [——/ dt'V(t’)] PR €XP [—/ dt’V(t’)”
hJ., h Jo
] 1
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exp[X]exp[Y] = exp (X +¥) + L[X, Y]+ (X, [X, Y] + [¥,[¥, X]) + -
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+0(3;X,Y,2)|. (A.2)
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[BC])+(93ABC)DDDDDDDDDDDDDDDDDDDDDD
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gobooboooboooboobooobbooboobobooog

(eAeBely = (X)
= exp[ X) ) + O(X?))]
= exp(4) + }exp{2{(<A2> <A>2) + (<BZ> - ()
(

Gl <>) 2((4B) ~ (4)(B)) +2 )

+2( )}]exp[< (3; A, B C)>}

exp[<A r (e 5{ (040~ a2) + () - 57)
+(<c> (c >) 2((aB) - <A><B>)+2(<A0> <A><C>)

+2 )}] (A.23)



144

oo

1]
2]

[3]

[4]

[5]

[6]

[13]

[14]

[15]

[16]

E. L. Hahn, Phys. Rev. 80, 580 (1950).
N. A. Kurnit, I. D. Abella, and S. R. Hartmann, Phys. Rev. Lett. 13, 567 (1964).

L. Schultheis, A. Honold, J. Kuhl, K. Kohler, and C. W. Tu, Phys. Rev. B 34, 9027
(1986).

S. Rudin, T. L. Reinecke, and B. Segall, Phys. Rev. B 42, 11218 (1990).

H. P. Wagner, A. Schatz, R. Maier, W. Langbein, and J. M. Hvam, Phys. Rev. B
57, 1791 (1998).

L. Bényai, D. B. Tran Thoai, E. Reitsamer, H. Haug, D. Steinbach, M. U. Wehner,
M. Wegener, T. Marschner, and W. Stolz, Phys. Rev. Lett. 75, 2188 (1995).

D. Steinbach, G. Kocherscheidt, M. U. Wehner, H. Kalt, M. Wegener, K. Ohkawa,
D. Hommel, and V. M. Axt, Phys. Rev. B 60, 12079 (1999).

M. U. Wehner, M. H. Ulm, D. S. Chemla, and M. Wegener, Phys. Rev. Lett. 80,
1992 (1998).

Y. Ogawa and F. Minami, Phys. Rev. B 75, 073302 (2007).
L. Schultheis, J. Kuhl, A. Honold, and C. W. Tu, Phys. Rev. Lett. 57, 1635 (1986).

H. Wang, K. Ferrio, D. G. Steel, Y. Z. Hu, R. Binder, and S. W. Koch, Phys. Rev.
Lett. 71, 1261 (1993).

M. Wegener, D. S. Chemla, S. Schmitt-Rink, and W. Schéafer, Phys. Rev. A 42, 5675
(1990).

K. Bott, O. Heller, D. Bennhardt, S. T. Cundiff, P. Thomas, E. J. Mayer,
G. O. Smith, R. Eccleston, J. Kuhl, and K. Ploog, Phys. Rev. B 48, 17418 (1993).

E. J. Mayer, G. O. Smith, V. Heuckeroth, J. Kuhl, K. Bott, A. Schulze, T. Meier,
D. Bennhardt, S. W. Koch, P. Thomas, R. Hey, and K. Ploog, Phys. Rev. B 50,
14730 (1994).

Th. Ostreich, K. Schonhammer, and L. J. Sham, Phys. Rev. B 58, 12920 (1998).

J. M. Shacklette and S. T. Cundiff, Phys. Rev. B 66, 045309 (2002).



[17]

18]

[19]

[20]
[21]
22]

[23]

[30]

[31]

[32]

33]

[34]

[35]

[36]

145

H. Haug and S. W. Koch, Quantum Theory of the Optical and Electronic Properties
of Semiconductors (World Scientific, Singapore, 2009), 5th ed.

M. Aihara, Phys. Rev. B 25, 53 (1982).

S. Mukamel, Principles of Nonlinear Optical Spectroscopy (Oxford University Press,
New York, 1995).

D. B. Turner and K. A. Nelson, Nature (London) 466, 1089 (2010).
H. Tahara, Y. Ogawa, and F. Minami, Phys. Rev. Lett. 107, 037402 (2011).
V. O. Lorenz and S. T. Cundiff, Phys. Rev. Lett. 95, 163601 (2005).

V. O. Lorenz, S. Mukamel, W. Zhuang, and S. T. Cundiff, Phys. Rev. Lett. 100,
013603 (2008).

M. L. Cowan, B. D. Bruner, N. Huse, J. R. Dwyer, B. Chugh, E. T. J. Nibbering,
T. Elsaesser, and R. J. D. Miller, Nature (London) 434, 199 (2005).

S. G. Carter, Z. Chen, and S. T. Cundiff, Phys. Rev. B 76, 121303(R) (2007).

P. Borri, W. Langbein, S. Schneider, U. Woggon, R. L. Sellin, D. Ouyang, and
D. Bimberg, Phys. Rev. Lett. 87, 157401 (2001).

J. Ishi-Hayase, K. Akahane, N. Yamamoto, M. Sasaki, M. Kujiraoka, and K. Ema,
Appl. Phys. Lett. 91, 103111 (2007).

J. J. Finley, P. W. Fry, A. D. Ashmore, A. Lemaitre, A. I. Tartakovskii, R. Oulton,
D. J. Mowbray, M. S. Skolnick, M. Hopkinson, P. D. Buckle, and P. A. Maksym,
Phys. Rev. B 63, 161305(R) (2001).

E. Poem, J. Shemesh, I. Marderfeld, D. Galushko, N. Akopian, D. Gershoni,
B. D. Gerardot, A. Badolato, and P. M. Petroff, Phys. Rev. B 76, 235304 (2007).

Y. Arashida, Y. Ogawa, and F. Minami, Phys. Rev. B 85, 235318 (2012).

P. Y. Yu and M. Cardona, Fundamentals of Semiconductors: Physics and Material
Properties (Springer, Berlin, 2010).

T. Yajima and Y. Taira, J. Phys. Soc. Jpn. 47, 1620 (1979).

S. Cronenberger, C. Brimont, O. Crégut, K. Kheng, H. Mariette, M. Gallart,
B. Hénerlage, and P. Gilliot, Phys. Rev. B 77, 195311 (2008).

V. M. Axt, T. Kuhn, B. Haase, U. Neukirch, and J. Gutowski, Phys. Rev. Lett. 93,
127402 (2004).

L. Viola and S. Lloyd, Phys. Rev. A 58, 2733 (1998).

C. Uchiyama and M. Aihara, Phys. Rev. A 66, 032313 (2002).



146

[37] M. F. Andersen, A. Kaplan, T. Griinzweig, and N. Davidson, Phys. Rev. A 70,
013405 (2004).

[38] T.D. Ladd, D. Maryenko, Y. Yamamoto, E. Abe, and K. M. Itoh, Phys. Rev. B 71,
014401 (2005).

[39] T. Kishimoto, A. Hasegawa, Y. Mitsumori, J. Ishi-Hayase, M. Sasaki, and F. Mi-
nami, Phys. Rev. B 74, 073202 (2006).

[40] A. Kuhn, A. Chevy, and R. Chevalier, Phys. Status Solidi A 31, 469 (1975).

[41] G. I. Abutalybov, S. Z. Dzhafarova, and N. A. Ragimova, Phys. Rev. B 51, 17479
(1995).

[42] M. Schliiter, Nuovo Cimento B 13, 313 (1973).
[43] E. Mooser and M. Schliiter, Nuovo Cimento B 18, 164 (1973).

[44] R. L. Toullec, N. Piccioli, M. Mejatty, and M. Balkanski, Nuovo Cimento B 38, 159
(1977).

[45] H. Tahara, Y. Ogawa, and F. Minami, Phys. Rev. B 82, 113201 (2010).

[46] Kh. M. Khalilov and K. I. Rzaev, Kristallografiya 11, 929 (1966) [Sov. Phys. Crys-
tallogr. 11, 786 (1967)].

[47] J. J. Forney, K. Maschke, and E. Mooser, J. Phys. C 10, 1887 (1977).
[48] V. Capozzi and K. Maschke, Phys. Rev. B 34, 3924 (1986).

[49] D. Frohlich, A. Kulik, B. Uebbing, A. Mysyrowicz, V. Langer, H. Stolz, and
W. von der Osten, Phys. Rev. Lett. 67, 2343 (1991).

[50] H. Giessen, A. Knorr, S. Haas, S. W. Koch, S. Linden, J. Kuhl, M. Hetterich,
M. Griin, and C. Klingshirn, Phys. Rev. Lett. 81, 4260 (1998).

[51] N. C. Nielsen, S. Linden, J. Kuhl, J. Férstner, A. Knorr, S. W. Koch, and H. Giessen,
Phys. Rev. B 64, 245202 (2001).

[52] H. P. Wagner, W. Langbein, and J. M. Hvam, Phys. Rev. B 59, 4584 (1999).

[53] H. P. Wagner, A. Schétz, W. Langbein, J. M. Hvam, and A. L. Smirl, Phys. Rev. B
60, 4454 (1999).

[54] V. M. Axt, B. Haase, and U. Neukirch, Phys. Rev. Lett. 86, 4620 (2001).
[55] J. R. Chelikowsky and M. L. Cohen, Phys. Rev. B 14, 556 (1976).

[56] T. Yao, Y. Okada, S. Matsui, K. Ishida, and I. Fujimoto, J. Cryst. Growth 81, 518
(1987).



147

[57] B. Sermage and G. Fishman, Phys. Rev. B 23, 5107 (1981).

[58] S. Permogorov, H. Stolz, H. Vogelsang, Th. Weber, W. von der Osten, P. Kuznetov,
A. N. Pechonov, and A. S. Nasibov, Solid State Commun. 88, 705 (1993).

[59] F. Minami, Y. Kato, K. Yoshida, K. Inoue, and K. Era, Appl. Phys. Lett. 59, 712
(1991).

[60] G. Fishman, Solid State Commun. 27, 1097 (1978).

[61] M. Kuwata-Gonokami, S. Inouye, H. Suzuura, M. Shirane, R. Shimano, T. Someya,
and H. Sakaki, Phys. Rev. Lett. 79, 1341 (1997).

[62] T. Aoki, G. Mohs, M. Kuwata-Gonokami, and A. A. Yamaguchi, Phys. Rev. Lett.
82, 3108 (1999).

[63] J. A. Gupta, D. D. Awschalom, X. Peng, and A. P. Alivisatos, Phys. Rev. B 59,
R10421 (1999).

[64] M. V. Gurudev Dutt, J. Cheng, B. Li, X. Xu, X. Li, P. R. Berman, D. G. Steel,
A. S. Bracker, D. Gammon, S. E. Economou, R.-B. Liu, and L. J. Sham, Phys. Rev.
Lett. 94, 227403 (2005).

[65] W. Langbein, P. Borri, U. Woggon, V. Stavarache, D. Reuter, and A. D. Wieck,
Phys. Rev. B 70, 033301 (2004).

[66] L.-W. Wang, J. Kim, and A. Zunger, Phys. Rev. B 59, 5678 (1999).
[67] O. Stier, M. Grundmann, and D. Bimberg, Phys. Rev. B 59, 5688 (1999).
[68] L. Besombes, K. Kheng, and D. Martrou, Phys. Rev. Lett. 85, 425 (2000).

[69] R. Seguin, A. Schliwa, S. Rodt, K. Potschke, U. W. Pohl, and D. Bimberg, Phys.
Rev. Lett. 95, 257402 (2005).

[70] G. A. Narvaez, G. Bester, and A. Zunger, Phys. Rev. B 72, 245318 (2005).
[71] A. Schliwa, M. Winkelnkemper, and D. Bimberg, Phys. Rev. B 79, 075443 (2009).

[72] A. V. Koudinov, I. A. Akimov, Y. G. Kusrayev, and F. Henneberger, Phys. Rev. B
70, 241305(R) (2004).

[73] D. N. Krizhanovskii, A. Ebbens, A. I. Tartakovskii, F. Pulizzi, T. Wright, M. S. Skol-
nick, and M. Hopkinson, Phys. Rev. B 72, 161312(R) (2005).

[74] Y. Léger, L. Besombes, L. Maingault, and H. Mariette, Phys. Rev. B 76, 045331
(2007).

[75] K. Akahane, N. Ohtani, Y. Okada, and M. Kawabe, J. Cryst. Growth 245, 31 (2002).



148

[76] K. Akahane, N. Yamamoto, and T. Kawanishi, Phys. Status Solidi A 208, 425
(2011).

[77] D. Leonard, K. Pond, and P. M. Petroff, Phys. Rev. B 50, 11687 (1994).

[78] D. Gammon, E. S. Snow, B. V. Shanabrook, D. S. Katzer, and D. Park, Phys. Rev.
Lett. 76, 3005 (1996).

[79] M. Bayer, G. Ortner, O. Stern, A. Kuther, A. A. Gorbunov, A. Forchel, P. Hawrylak,
S. Fafard, K. Hinzer, T. L. Reinecke, S. N. Walck, J. P. Reithmaier, F. Klopf, and
F. Schifer, Phys. Rev. B 65, 195315 (2002).

[80] W. Langbein, P. Borri, U. Woggon, V. Stavarache, D. Reuter, and A. D. Wieck,
Phys. Rev. B 69, 161301(R) (2004).

[81] C. R. Pidgeon, S. H. Groves, and J. Feinleib, Solid State Commun. 5, 677 (1967).

[82] E. L. Ivchenko and G. E. Pikus, Superlattices and Other Heterostructures: Symmetry
and Optical Phenomena (Springer, Berlin, 1997).

[83] A. E. Paul, J. A. Bolger, A. L. Smirl, and J. G. Pellegrino, J. Opt. Soc. Am. B 13,
1016 (1996).

[84] T. F. Albrecht, K. Bott, T. Meier, A. Schulze, M. Koch, S. T. Cundiff, J. Feldmann,
W. Stolz, P. Thomas, S. W. Koch, and E. O. Gébel, Phys. Rev. B 54, 4436 (1996).



149

HEN

gboobobobooboooboboonoooboboobobooboboooooon
gbooboboobbooboboobobooboboobobuoobooboobooog
gbogbobgobobooboobobuoobobobobobobooboboobaobg
gbooboobobobooboobobooobboooboobobooobobooboong
gbooboboobobooobobooboboboboobobooboboobobo
gbobobuoobobooboboobouooboboobobooobooboboboono
gooog

gboboobooobooboobooboobooboooboooboooboooboboobooobo
gboobobooboboobooboboobobooboboobobooobobo
gboooooboobobooboboooboooboboboboooboboobonog
googbooobooboobogobooboboobooobooboobooobooboon
gboobobooobooboboobobooboboobobuoooboobonbg
gboobobooboboooboboobobooboooboboobooboooboono
gbobobobobobobobobobob

ooooooooooIcroocoooooooooooo0oooOoooDOooDoOoDo
gbobgbooboboooboobobooobobooooobobooboboooboboo
googbooboobooogoboooooboooboooboobobooboooboon
gobogbooobboooooan

gboooooboboobobooobobobooboboooobooobobooboo
googbooboooobooooboogboobooooboobooboobooobooon
goboobooobboooboooboood

gbooobgboobooooobooooboooboboooboboobobooon
googboooobooobooboooobooboobooboooboboboboobooobooon
gboooboobooobobooboboobobuoobooboooboboobooboonog
gbooooobooboobobooboboboooboobobooboboobobo
gbooooboobooooooboboooobobboboobooboobooboooboobooo
gobooobooooboobooooboobooobboobooonobo

gbooogooboboobobobobooboobooboboobooboobobo
gbooooooboooboboooboobooobobooooobooooobobooobooo
goboooodgg



150

oo

gooog

[1] H. Tahara, Y. Ogawa, and F. Minami, Damped oscillations of exciton wave packets
in the layered semiconductor GaSe observed by four-wave mixing spectroscopy, Phys.
Rev. B 82, 113201 (2010).

[2] H. Tahara, Y. Ogawa, and F. Minami, Non-Markovian Dynamics of Spectral Narrowing
for Excitons in the Layered Semiconductor GaSe Observed Using Optical Four- Wave
Mixing Spectroscopy, Phys. Rev. Lett. 107, 037402 (2011).

[3] H. Tahara, M. Bamba, Y. Ogawa, and F. Minami, Observation of a dynamical mizing
process of exciton-polaritons in a ZnSe epitazial layer using four-wave mizing spec-
troscopy, Phys. Rev. B 86, 235208 (2012).

[4] H. Tahara, Y. Ogawa, F. Minami, K. Akahane, and M. Sasaki, Anisotropic optical
properties of excitons in strain-controlled InAs quantum dots, Phys. Rev. B 87, 035304
(2013).

goooooognd

[1] H. Tahara, Y. Ogawa, and F. Minami, Spectral narrowing of four-wave mizing signals
for excitons in the layered semiconductor GaSe, J. Phys.: Conf. Ser. 302, 012036
(2011).

[2] H. Tahara, Y. Ogawa, and F. Minami, The Ezcitonic Wave-packet Motion In GaSe
Probed By Spectrally Resolved Four-wave Mixzing Spectroscopy, AIP Conf. Proc. 1399,
39 (2011).

[3] H. Tahara, M. Bamba, Y. Ogawa, and F. Minami, Coherent Spectral Change of Four-
wave Mizing Signals from Exciton-polaritons in ZnSe Epitaxial Layer, to be published
in AIP Conf. Proc.

goboooooog

[1] H. Tahara, Y. Ogawa, and F. Minami, The ezcitonic wave-packet motion in GaSe
probed by spectrally resolved four-wave mizing spectroscopy (Poster), 30th International
Conference on the Physics of Semiconductors (ICPS2010), Seoul, Korea (2010).



151

[2] H. Tahara, Y. Ogawa, and F. Minami, Spectral narrowing of four-wave mizing signals
for excitons in the layered semiconductor GaSe (Poster), Nanoscience and Quantum
Physics 2011 (nanoPHYS’11), Tokyo, Japan (2011).

[3] H. Tahara, Y. Ogawa, and F. Minami, Non-Markovian dephasing in the layered semi-
conductor GaSe (Poster), 16th International Conference on Luminescence and Optical
Spectroscopy of Condensed Matter 2011 (ICL’11), Ann Arbor, USA (2011).

[4] H. Tahara, M. Bamba, Y. Ogawa, and F. Minami, Coherent Spectral Change of Four-
wave Mizing Signals from Exciton-polaritons in ZnSe Epitaxial Layer (Poster), 31st In-
ternational Conference on the Physics of Semiconductors (ICPS2012), Zurich, Switzer-
land (2012).

gbobooboob

(1] 0000,000,0000,0000,GaSe0000000O0O00OOOOOOOOODO
gobooboboogoobooboo2o0900b000,00000 20090

2l D000,000,0000,0000,GaSe000000000O0O0OOUOOODOO
gbooboboobobobobdgooooogboesbobOo,0bobo2oton

3] D0O00,0000,0000,GaAsO0000000O0O0O0OOOOOODOOODODOO
gbobooobbogoobogbooesonbog,bogoo2olon

[4) D0O0O0O,0000,0000,000000000 ZnSe000000000CODOOO
gbobooobobob201000000,000000020100

[p) DO0O0,0000,0000,000000000ZnSe0000000O00OODOOO
oboobooobooboobotbesb0OOon,bO0bOD20110

[l DO0ODO,0000,0000,0000,ZnSe000000000OOOODODODOO
gobooboooobobooobbboogobobogo 2011000040, bogo
020110

[7l D000,0000,0000,0000, Spectral change of exciton-polaritons in ZnSe
epitaxial layer observed by four-wave mixing spectroscopyd D000 O0OO0O0OOO
0o0o0000ooo0oooooooobooooobooboooooooooo 2012, 000
000020120

8] OO0O0O0,0000,0000,0000,00000,0000 MAsOO0O0O0ODOOO
goboobooooboboooobbobgooobooo 201200000, 000000
020120

() 0000,0000,0000,GaAs000000O0DO0OOOOOOOOOOOODOO
gbobobooboboboooobooooobo201200000,000000020120

[10) 0000,0000,0000,0000, ZnSe/ZnMgSSe00000000O0DO0ODO
uoboooboogoooobonb201200000,0000000201240



152

[11] O000,0000,0000,0000,00000,0000000000 InAsOO
gboogoboobboobobobboobbobooooboobgesdbognb,oboo
020130

[12) O0O0O0O,0000,0000,0000,000000000000 ZnSeO0OOO0OO
gboobobogobooboooooooooesbbOob,bO0b0Oo2013d



